Answer Keys reading 7

1- VI. Even though ‘shelves’ are not mentioned in the text, it should be understood figuratively:

the genre has become very popular.

2- IV. The first ever (the original) dystopias are mentioned, as well as the first YA dystopian title.

3- VII. The paragraph draws parallels between teenager’s real-life experience at school, the struggles

of Young Adult dystopias’ characters and how teenagers can relate to them. experiences.

4- Il. To scrutinise is to give a closer look, to pay attention to details in order to find information. In
the paragraph the author attempts to analyse the reasons of dyspotian literature success by
deconstructing its ‘model’.

5- IX. ‘Moral principles burgeon...’, ‘modern YA literature are a response to “social anxiety” brought
forth by pollution and over-consumption’ point at the books’ attempt to raise awareness of current
issues and therefore ‘promote ethical thinking’.’lll — Dystopian novels now focus on climate change’
doesn’t fit here as no such information is given — even though the aspect of climate change is
mentioned, it is neither the main focus of the books nor has it gained more attention from the writers
recently (‘now’).

6- l. To conform means to follow certain customs, to behave in a certain way that is accepted by the
society you live in. The paragraph mentions how young people are expected to live up to these
standards and how they refuse to.

7--V. Last sentence of the paragraph sums up the idea — the effect of YA dystopian literature is going to
be long-lasting and will outlive the popularity of this genre.

8-- Brave New World. Paragraph B, second sentence. The dates make it easy to pick the earliest book.
Make sure to capitalise all three words as it is a title — a proper name.

9--Lois Lawry. The middle of Paragraph B. Lois Lawry pioneered the genre of YA dystopian novel with
The Giver.

10--Honest. Last sentence of Paragraph D. Even though you can use up to three words, there is nothing
else to include here.

11--Environmental catastrophe. Paragraph E, third sentence. Make sure to get the spelling right! 12--
Personal identity. Paragraph F states that teenagers are ‘dragooned into rigid moulds’, or to put
simpler, forced to conform to a certain standard. ‘Personal identity’ is mentioned before this paragraph.
Mind the spelling. Status quo is an incorrect answer because it is exactly what the characters oppose —

the accepted order of things.

13-D. The draw is the appeal, the reason it is so interesting. The paragraph focuses on different aspects
of YA distopias success and popularity. Other titles focus on secondary aspects of the text. Remember

that a title should reflect the content of its respective paragraphs.

IELTS Reading Section 2

14---Humans and animals. Paragraph Two, the first sentence. As you can use up to three words, you
have to mention both humans and animals, otherwise you don’t get a point.

15--Natural light. Second half of Paragraph Two. Once again, include the adjective ‘natural’ in your
answer.

16--Allelopathy. Last sentence or Paragraph Two. Be sure to spell the word correctly.

17--Energy. Paragraph Three, second sentence. Nutrients are turned into energy. Metabolites is an
incorrect answer as it is a substance that assists in the transformation.



18--Organic compound. Same sentence in Paragraph Three. The indefinite article ‘an’ hints at the words
that begins with a vowel sound. Note that both primary and secondary metabolites are organic
compounds. The difficulty here is that the word ‘secondary metabolites’ is mentioned later, whereas the
word for the answer is found earlier in the text.

19-Inhibit growth. To inhibit is to slow some process down (usually to slow down growth). Paragraph
Four, second sentence contains the answer.

20--Molecular mechanism. Last sentence of Paragraph Four. Names and dates are great keywords as
they usually stand out in the text because of capitalisation.

21'--Small doses. Paragraph Five, sentence five. Keep in mind that you can use no more than three
words so answer ‘even in small doses’ will be incorrect.

22--All herbivores. Paragraph Five, second half. The word ‘against’ is already in the task, make sure not
to use it again.

23--(Are) immediately lethal. Last sentence of Paragraph Five. The usage of verb to be is optional.
However, you have to include ‘immediately’ as without it the meaning is changed dramatically. ‘Not
immediately lethal’ implies that it doesn’t cause death on the spot, but the effect is postponed. ‘Not
lethal’ means that it never causes death. Also mind the spelling.

24--Hollowed-out structures. Paragraph Six. To reside means to live or to occupy.

25--Giraffes. Another tricky word to spell.

26--TRUE. It is important to understand that secondary metabolites are those that are used for defence,
e.g. stunting growth. Third sentence of the last paragraph: ‘... certain allelochemicals-the

aforementioned chemical compounds that are responsible for stunting growth in plants...”.

27--NOT GIVEN. Nothing about such cooperation in mention. Only the fact that the research is
conducted. In order for this answer to be TRUE, every statement in the question has to be mentioned in

the text.

IELTS Reading Section 3

28--C. The Maori of New Zealand and Australia’s indigenous people are the examples of other groups
treated similarly to deaf people.

29--D. The paragraph mentions the word ‘deafness’ having negative connotations. In other words —its
meaning is bad. That is why it is no longer considered appropriate. Paragraph C is incorrect as the given
definition of deafness there is used in connection with Audism views.

30--A. Second sentence gives the definition of the word ‘deaf’, but it does so indirectly.

Do not be misguided by the introductory questions of Paragraph E: ‘What does being ‘Deaf’ mean?’. It
doesn’t focus on the meaning of the word, but on the experience of deaf people in general. 31--G.
Third sentence in this paragraph goes: “... who have for decades internalised society’s unfavourable
views of them”. In other words, deaf people, hearing society’s unwelcoming opinions about them,
have themselves adopted such views.

32--E. Last sentence of Paragraph E mentions how ‘true Deafhood’ how be acheived through ‘natural
language’ used within deaf people community.

33--B. First sentence of the paragraph gives the origin of the term ‘Deafhood’.

34--F. ‘Imperilled’ means being at risk of harm or destruction, endangered. Neo-eugenics is the source of
such danger that aims to eradicate deafness by various means such as technology or genetic

engineering.



35--C. Last sentence of Paragraph B mentions Deafhood attempting ‘to remove the limitations imposed’
by colonisation of hearing people. Answers A, B and D do not fit as they do not relate directly to Ladd’s
voiced opinion.

36--A. Third and fourth sentence of Paragraph C: “... a reduced use of sign language would be more
beneficial to SLPs”, “... sign language is dismissively regarded as a mere obstacle”. Other answers are not
mentioned in the text.

37--C. Fourth sentence of Paragraph C states that just like sign language, Australia’s indigenous people’s
language was too perceived as inferior, standing in the way of listening and speaking skills. 38--Natural
language. Last sentence of Paragraph E. Note that you can only use up to two words, so answering
‘their natural language’ is incorrect.

39--Eugenicists. Middle of paragraph F contains the answer. Be sure to spell the word correctly.

40--Official recognition. Middle of the last paragraph: “We should also seek... official recognition of sign

languages around the world”



